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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nine and half  marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Classify lipids giving characters and function of each 

group. 

fyfiM~l dk oxhZdj.k djrs gq, blds izR;sd lewg ds dk;Z 

,oa lkekU; xq.k crkb;sA 

2. Give recent classification of proteins. 

izksVhu dk vk/kqfud oxhZdj.k nhft,A 

3. Describe the functions of liver. 

;d`r ds dk;Z le>kb;sA 

4. Describe Kreb‟s cycle in mammals. 

Lru/kkfj;ksa esa ØSCl pØ dks le>kb;sA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Difference between external and internal respiration. 

vUr% ‘olu rFkk cká ‘olu esa vUrj crkb;sA 
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2. Define the enzyme and explain the key lock method. 

,Utkbe dks ifjHkkf”kr djrs gq, rkyk&daqth ifj;kstuk dks 

le>kb;sA 

3. What is heart beat ? Explain in detail. 

ân; xfr D;k gS \ foLrkj ls le>kb;sA 

4. Describe the functions served by plasma protein. 

IykTek izksVhu ds dk;Z dks foLrkjiwoZd le>kb;sA 

5. Write short notes on the following : 

(i) Vitamin 

(ii) Sucrose 

fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(i) foVkfeu 

(ii) lqØkst 

6. What is Ultrafiltration ? 

ijNuu dks le>kb;sA 

7. Describe the structure of nerve cell. 

ufydk dksf’kdk dk js[kkfp= nhft;sA 

8. What is Immunology ? 

izfrj{kk foKku dks le>kb;sA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k;s % 

1. Deficiency of folic acid produces scurvy. 

QkWfyd ,flM dh deh ls LdohZ gksrk gSA 

2. Exchange of gases in the lung is interpreted during 

expirtation. 

QsQM+ksa esa xSl dk vknku&iznku fu%’olu ds nkSjku gksrk gSA 

3. The vagus nerves reduce the heart beat. 

osxl raf=dk,¡ ân; dh xfr dks de djrh gSaA 

4. Glucose is actively reabsorbed in the proximal 

convoluted tubule. 

lehiLFk laofyr ufydkvksa esa Xywdkst dk lfØ; :i ls 

iqu% vo’kks”k.k gksrk gSA 

5. Mitochondria is the power house of cell. 

ekbVksdkWfUMª;k dksf’kdk dk ikoj gkml gSA 

Choose the correct alternative. 

lgh fodYi pqfu, % 

6. Liver cells secrete : 

(a) Amylopsin 

(b) Trypsin 

(c) Bile and no enzyme 

(d) Lipase 
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;d`r dksf’kdk,¡ Lkzkfor djrh gaS % 

¼v½ ,ek;yksfIlu 

¼c½ Vªhilhu 

¼l½ fiŸk] ,atkbe ugha 

¼n½ ykbist 

7. Which of the following is the largest gland in human 

body ? 

(a) Pancreas 

(b) Liver 

(c) Thyroid 

(d) Pituitary 

fuEufyf[kr esa ls ekuo ‘kjhj esa lcls cM+h xzafFk dkSu&lh  

gS \ 

¼v½ vXuk’k; 

¼c½ ;d`r 

¼l½ Fkk;jkWbM 

¼n½ ih;w”k 

8. Islets of Langerhans produce : 

(a) Insulin 

(b) Renin 

(c) Ptyalin 

(d) HCl 

ySaxjgSUl dh }hfidk,¡ mRikfnr djrh gSa % 

¼v½ bUlqfyu 

¼c½ jSfuu 

¼l½ Vkbfyu 

¼n½ gkbMªksDyksfjd vEy 
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9. How many molecules of 2O  can associate with one 

molecule of haemoglobin in man ? 

(a) One 

(b) Two 

(c) Four 

(d) Three 

ekuo esa vkWDlhtu dk ,d v.kq gheksXyksfcu ds fdrus 

v.kqvksa ls tqM+rk gS \ 

¼v½ ,d 

¼c½ nks 

¼l½ pkj 

¼n½ rhu 

10. Action potential of a nerve cell is created by : 

(a) Ca 

(b) K 

(c) Na 

(d) Cl 

raf=dk dksf’kdk dk fØ;k foHko izkIr gksrk gS % 

¼v½ dSfY’k;e ls 

¼c½ iksVSf’k;e ls 

¼l½ lksfM;e ls 

¼n½ Dyksjhu ls 
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